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[1:{ivA sh&E4a OUT IN GROSS HDCP NET 25 [1:{ivA Sh&4a OUT IN GROSS HDCP NET "E

B X =17 46 39 85 13.2 71.8 26 Hli%E & 42 42 84 8.4 75.6

2 15I% {RE 46 43 89 16.8 72.2 27 & 803 45 45 90 14.4 75.6

3 1% BE 44 45 89 16.8 72.2 28 IH == 47 49 96 20.4 75.6

4 HEE EE 41 47 88 15.6 72.4 29 K ek 49 52 101 25.2 75.8

5 E& g4 45 48 93 20.4 72.6 30 i EAL 51 44 95 19.2 75.8

6 KB =F 46 47 93 20.4 72.6 31 = & 48 47 95 19.2 75.8

7 EXE 85 47 46 93 20.4 72.6 32 [EH —Ih 47 42 89 13.2 75.8

8 | iR 53 51 104 31.2 72.8 33 (AR & 50 45 95 19.2 75.8

9 ik — 49 39 88 14.4 73.6 34 fTfE =8 48 51 99 22.8 76.2

10 ?XH 35 45 49 94 20.4 73.6 35 EBFHIP E’EE 51 54 105 28.8 76.2

11 A% RF 43 45 88 14.4 73.6 36 FIE B 47 46 93 16.8 76.2

12 B HE 51 47 98 24.0 74.0 37 TN EA 43 50 93 16.8 76.2

13 EPH =EIN 45 45 90 15.6 74.4 38 [EH —& 52 52 104 27.6 76.4

14 Ff% 2B 48 48 96 21.6 74.4 39 B RF 49 49 98 21.6 76.4

15 WEE 48l 46 43 89 14.4 74.6 40 fRFE A% 46 45 91 14.4 76.6

16 ﬁt F— 47 47 94 19.2 74.8 41 B?:.B faa 49 54 103 26.4 76.6

17 1°f% 855 49 45 94 19.2 74.8 42 hf% 3= 53 50 103 26.4 76.6

18 )#H EEZ 47 46 93 18.0 75.0 43 /J\/é F54 45 45 90 13.2 76.8

19 £ 5 43 44 87 12.0 75.0 44 Al = 41 43 84 7.2 76.8

20 [EEY ==— 49 43 92 16.8 75.2 45 Hifl ZRIT 47 49 96 19.2 76.8

21 [ = 49 49 98 22.8 75.2 46 A #o4 51 56 107 30.0 77.0

22 oK 83 48 43 91 15.6 75.4 47 |LIH &% 57 56 113 36.0 77.0

23 (HEY ZET 47 50 97 21.6 75.4 48 fNith M= 59 54 113 36.0 77.0

24 St EF T 52 51 103 27.6 75.4 49 Eiff EF 55 52 107 30.0 77.0

25 {Fik —i5 47 50 97 21.6 75.4 50 K#x 5h 53 53 106 28.8 77.2
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51 X BiEH 55 51 106 28.8 77.2 76 ;i 12 50 46 96 15.6 80.4

52 FH F;T 53 53 106 28.8 77.2 77 3hlll & 50 50 100 19.2 80.8

53 FHEY IR3E 48 52 100 22.8 77.2 78 FH & 52 54 106 25.2 80.8

54 5P £= 47 46 93 15.6 77.4 79 = R 53 52 105 24.0 81.0

55 [FH =G 48 50 98 20.4 77.6 80 HF IFX 61 48 109 27.6 81.4

56 S &= 55 49 104 26.4 77.6 81 {HHz APFT 53 49 102 20.4 81.6

57 HE¥ =80 53 50 103 25.2 77.8 82 H¥¥ R¥ 57 61 118 34.8 83.2

58 EYf] Bk 57 52 109 31.2 77.8 83 fHEY {EX 59 53 112 28.8 83.2

59 TN 18 47 49 96 18.0 78.0 84 Tl BEA 53 58 111 27.6 83.4

60 F)l| £F 48 48 96 18.0 78.0 85 )l E=8F 64 59 123 36.0 87.0

61 StE EA 45 45 90 12.0 78.0 86 buﬂaﬁs B 65 58 123 36.0 87.0

62 EiE XA 51 50 101 22.8 78.2 87 i 152 67 57 124 36.0 88.0

63 fHil E=F 51 49 100 21.6 78.4 88 #—L ) 62 69 131 36.0 95.0

64 /\Ey &= 48 52 100 21.6 78.4

65 =R 5 45 54 99 20.4 78.6

66 EIEP fE— 43 50 93 14.4 78.6

67 E5 F17T 48 48 96 16.8 79.2

68 1EMH T 53 42 95 15.6 79.4

69 /J\ﬁ Ve e 52 49 101 21.6 79.4

70 T fHE 53 54 107 27.6 79.4

71 buitﬁ 5AA 52 49 101 21.6 79.4

72 #E &t 53 53 106 26.4 79.6

73 ioK IRIFE 50 50 100 20.4 79.6

74 Eiff 1% 56 54 110 30.0 80.0

75 EK BE 48 54 102 21.6 80.4




